Ol &F A

Al A

0248 20iloF LESIH Aot AIE A
FA: Aot AIE A
Zu: seg B
Chel: SHEIIZALEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Aot=EAI A 34,541,319 20,079,657 14,461,662
= 13,683,000
== 2,834,250
[Ea 18,024,069
ges 2d 33,261,502 18,739,857 14,521,645
= 13,683,000
< 2,834,250
= 16,744,252
SR PIEINE- S 24,836,260 12,940,193 11,8%,067
= 13,683,000
== 2,834,250
o 8,319,010
of=2tH =LA 300,000 400,000 100,000
401 AIEHIZ R HYI 300,000 400,000 100,000
01 Al&H| 300,000 400,000 100,000
OE&A & 274 o+t =4
20,000&%15,000m 300,000
A2 ol=HelAlE mAl2el 1,108,260 871,992 236,268
201 er2 3| 566,920 490,720 66,200
01 AtR2telHl 193,200 210,000 16,800
OATRL SteHEIAIE =22 AH400HA)
2,000,000 =48 96,000
OsSHEZY =4 ZH| Xt
310,000 +8AI 2+ 152 37,200
OAAR Sl=XelAld =X =E2Et
FE==2 5,000,000& *12& 60,000
02 S3=gHl 363,720 280,720 83,000
Ox72 dt=XelAle &=
28,000,000 «12& 336,000
OZAZAIMO Stz
77,0003 %3004 2% 123 21,720
202 04l 3,840 3,840
01 =LHA LI 3,840 3,840
OATZ Sl=XelAlE JISAE 88 ¢ 2
X 20,0003 =2H+83|* 123 3,840
401 Al HIZ S OHbI 547,500 377,432 170,068
01 AlZ2H| 547,500 377,432 170,068
OAIEE RXlZ2/H 300,000,000 *14] 300,000
OATE St=HMelAlE JlsdH
247,500,000 x14] 247,500
A2 ShEXelAlE 2elid 89 665,000 572,201 92,79
401 Al HIZ 2018 665,000 572,201 92,79
01 Al&H| 665,000 572,201 92,79
OATZ Sl=XlAlE 22iUdd S
665,000,000 * 14 665,000
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FA: Aot AIE A
ma: ote2 BH
Chel: SHEIIZALEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Bi=&H| =SS At 22D 30,000 20,000 10,000
401 AIZHIZ SO 30,000 20,000 10,000
01 A&l 30,000 20,000 10,000
OASZ bl EZAM
300,000 1009+ 30,000
Ala=(X1S3,421) S3ot=HelAld SEAY 5,942,000 3,736,000 2,206,000
= 4,159,000
= 350,650
o 1,432,350
401 A& HIX R0 5,942,000 3,736,000 2,206,000
= 4,159,000
& 360,650
= 1,432,350
01 Al&H| 5,533,000 3,184,000 2,349,000
Obl4=(X+S3,421) S3ot=HMelAld SEA
& 5,533,000,000& * 14 5,533,000
= 4,159,000
< 360,650
s 1,023,350
02 Zeltl 400,000 550,000 150,000
Obl=(X+S3,421) S3ot=HelAld SEA
2 Zell 400,000,000 * 14 400,000
03 A& THYI 9,000 2,000 7,000
O&l4=(X+S3,421) S3ot-=HMelAlE SEA
& 20| 9,000,000& *14] 9,000
SECIHRA (X, 2493, FEMLIET) St 6,599,000 3,710,000 2,889,000
SHIAY
= 4,619,000
< 500,000
[Ea 1,480,000
401 Al HIZL S 0HYI 6,599,000 3,710,000 2,889,000
= 4,619,000
=S 500,000
s 1,480,000
01 AlZ8| 6,089,000 3,208,000 2,881,000
Os&ot=Mel R (2K, 293, XM=
) ot FHIAY
6.,089,000,000& 14] 6,089,000
= 4,619,000
= 500,000
o 970,000
02 2/l 500,000 500,000 0
OS&6t=MelRE (2K, 293, #EXMLE
T) St==2)1 HulArg el
500,000,000& *14] 500,000




FA: Aot AIE A
N geg X
Chel: SHEIIZALEE EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
03 Al 20HHI 10,000 2,000 8,000
S&oteHel Y (2K, 2E3, HEMLE
) B HHlAtY =)
10,000,000& » 14 10,000
43t SBotXHelAE SEAMY 2,112,000 200,000 1,912,000
= 1,056,000
= 528,000
s 528,000
401 Al HIZ 2018 2,112,000 200,000 1,912,000
= 1,056,000
[ 528,000
[ias 528,000
01 Al&HI 1,910,000 200,000 1,710,000
st BBoEHIAE BEA
1,910,000,000& » 14 1,910,000
= 1,056,000
< 528,000
T 326,000
02 Zeltl 200,000 0 200,000
023t S3otexelAE SEAY Zaltl
200,000,000 » 14 200,000
03 AlZ = THHI 2,000 0 2,000
Od3t S3ot==XelAlE SEAME RO
2,000,000 *14] 2,000
L S3ot==HalAE SEAY 3,162,000 200,000 2,962,000
= 1,581,000
=S 790,500
ia 790,500
401 Al HIZ R OHHI 3,162,000 200,000 2,962,000
= 1,581,000
= 790,500
Ea 790,500
01 AlZHI 2,859,000 200,000 2,659,000
0SS S3otrHelAE SEAY
2,859,000,000& *14] 2,859,000
= 1,581,000
== 790,500
[Ea 487,500
02 Zcltl 300,000 0 300,000
Os% B3ot==HlAlE SEAMY Zeltl
300,000,000& *14] 300,000
03 A& CHYI 3,000 0 3,000
OSE S3otHelAE SEAY 201l
3,000,000 *14] 3,000
St=xiel 7S (W - @) Sha=2t ZHIAM 1,300,000 1,780,000 480,000
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FA: Aot AIE A
ma: ote2 BH
Chel: SHEIIZALEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 1,300,000 1,780,000 480,000
01 Al&H| 1,296,000 1,773,614 N4TT,614
L2 sanE DAY Y 24
500, 000 *700m 350,000
OJd 4l ¢H&E o B
4,000,000& *707+=* 280,000
oBBsl4T 222+ Y SN2
2,000,000 * 10094 2= 200,000
Oot=22 J|=at
10,000,000 79K 2= 70,000
Odt=22 J=dH0 HE 24+SAt
396,000,000 *14] 396,000
03 Al 20HHI 4,000 6,386 2,386
Odt=Xel2S (L - 21) Ste=201 FHIA
S 4,000,000 14 4,000
AtSbhel ot==2tH HHIAY 1,844,000 250,000 1,594,000
= 1,204,000
< 310,100
T 329,900
401 Al HIZL 201 1,844,000 250,000 1,594,000
= 1,204,000
== 310,100
o 329,900
01 Al&HI 1,741,000 200,000 1,541,000
OXtShel ot=2tH HUIAY
1,741,000,000& x14] 1,741,000
= 1,204,000
s 310,100
s 226,900
02 2l 100,000 50,000 50,000
OXS52] St==2t01 HUIAY 2l
100,000,000 14 100,000
03 AIZ2THYI 3,000 0 3,000
OXS52] St==2t HHIAIY SO
3,000,000 %14 3,000
2 SZotHelAE SEAY 1,557,000 500,000 1,057,000
= 934,000
= 311,500
[Ea 311,500
401 AIEHIX R0 1,557,000 500,000 1,057,000
= 934,000
= 311,500
= 311,500
01 Al&H| 1,455,000 500,000 955,000
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FA: Aot AIE A
Hu: gles 9
Chel: SHEIIZALEE EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
O0ZY S3ot-HelAE SEAY
1,455,000,000& » 14 1,455,000
= 934,000
[ 311,500
T 209,500
02 Zeltl 100,000 0 100,000
02Y TTEMUAL SEAME 2alb|
100,000,000 *14] 100,000
03 AIESTHYI 2,000 0 2,000
OZY SZot-HelAE SEAIY R0l
2,000,000& *14] 2,000
S&EoHMe R (HEX T, 2K12) St=22 FHIAHY 217,000 0 217,000
= 130,000
s 43,500
s 43,500
401 AIEHIZ SR OHYI 217,000 0 217,000
= 130,000
= 43,500
[Ea 43,500
01 AlZ2H| 217,000 0 217,000
SEot=MelRA(FEXT,2KX12) St=2
2 FHIA 217,000,000+ 14| 217,000
= 130,000
= 43,500
Ea 43,500
orMst 2 8N B2 163,440 252,200 198,760
Oisa=k 2 91,000 180,000 89,000
401 AIEHIZ SR OHYI 91,000 180,000 89,000
01 Al&HI 91,000 180,000 289,000
ontsdrE KAUE4(9HA)
91,000,000 *14{ 91,000
OiSaE 29 - 22 59,000 60,600 21,600
201 er23| 59,000 60,600 21,600
01 At2teltl 29,800 31,400 1,600
OlI24==E =EHA(SIIBAH
950,000 43 3,800
ODIXIE A=E +EBAHEDIZA
300,000& x 100 2+23] 6,000
oltSd+=E SHIAFA(SOHA 23])
10,000,000 »23] 20,000
2 s5=34l 29,200 29,200 0
Ontsas=E A2l (9HA)
22,000,000 * 14 22,000
Oollsd=k & &=H &z 7,200
OFSPI¥=2 500,000& 12902 6.000
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FA: Aot AIE A
N geg X
ot oHdEl 2 HE A 35 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| oeszdEzassz 00,0008 * 128 1,200
AN =23 3,440 3,440
202 04t 1,440 1,440
01 201l 1,440 1,440
OOISA4E SHAA L AEF
0,000 18 <23| x4 & 640
OLI=STTAIL +BAA L AEEY
80,000 1102 800
203 HR=H] 2,000 2,000
03 A=A 2= 2,000 2,000
OMBIFEAY AB AHYDEX
2,000,000& 2,000
H=XclAeE 29 8,248,202 5,523,864 2,724,338
IEEESSHANE 29 2,816,538 2,408,756 407,782
101 21AH| 10,803 7,89 2,904
04 JIZtN2Z2XNSE+ 10,803 7,89 2,904
OBAMME=HG ZAIMS QIR 10,803
OFJE=t=) 10,5412 +BAI 2++3E x 132 <32 9,867
OF=21:] 8,000 x3E *132x32] 936
201 fer23| 1,117,880 941,186 176,694
01 AtR2t2|HI 98,842 144,076 N45,234
OJI=E2n skl 2B Yt
800, 0002 *50CH 40,000
OsItEs sdikl HsSLHE HEFY
130,000& #3082} A 3,900
OAZIE FHe2 600,000& 122 7,200
O=%IS 2HA AEZE 55,0002 122 660
OXISIHEREHEY)| SUE
11,0002« 128 132
O0RIZE2X s4i|
8,000& x3E 115 2,760
OFAr2te|l =gl 25,330
@3J1#E)| 2H 7
460,000 x4 22| 3,680
OIA E2Z2LSX MEM 2L
13,0003 *50% 650
@OFAZE|ARE 950,000& * 122 11,400
@S FLEAY 800,000 * 12 9,600
OAxZ2d Jfel tEEH 2
250,000 x0H *23] 4,500
O & A 28 222 7Y
250,000 122 3,000
ou=H| 5,400
O EY2FS 7Y
200,000 x0H *23] 3,600
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2A:

= gleg 9X
2ol HsxelAeE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEFIEEEEEE
100,000 x99 »23] 1,800
OXNYUALLS NI (HEIH XA HSKE
) 500,000 x2EH *13] 1,000
OARE &M FUHIOIEER JIEXE)
500,000& 500
ORolistat2d HIIZAL =2 2
1,300,000& %12 1,300
OHZUHEIIZA 2,200,000 12 2,200
OdiEs+ Nl s8I 80,0002 122 960
® ZZ2H| 1,019,038 797,110 221,928
OLANLSAA 48
400,000& 22 800
O LEEY) KRXl=cl| 14,890
(OFuls] 450,000+ 123 5,400
Ok=¥=1=3 1,200,0002 %12 1,200
OFSIIF= N et = 70,0002 #23 140
@©RFHI(ER) 1,630&%5,0002| & 8,150
OAHIIA(EI], 2, AN E2H )R A2
e 51,900
©=4H| 600,000 12 +3CH 21,600
Ok=k=1-] 250,000 *3CH*12] 750
OFSPIF=Neatal=d 70,0002 +3CH*13] 210
ORFHI(ZR) 1,6302%18,0002 & 29,340
OIIEE=XE =34l 627,448
@&IIe=s 50,000,000& «12& 600,000
@&D| ot 2| =2
1,500,000& «12& 18,000
@I EHl HIIZBA =5
1,300,000& %12 1,300
OHEE 2= 1,358%%6,0002 £ 8,148
OIEERXMCNE 272 FA+H
2,000,000& 12 24,000
OIIFE 4d| gHE X2l
12,00021%25,000& 300,000
202 04| 10,200 10,200
01 2K 10,200 10,200
OEAZ IIEE R 2XclAE Az+d
80,0002 x5 8! 3,200
OJt=28Y FitsIt &l
20,0002 x5 »36 3,500
O%H| & =24 BHE HaXl &=l
20,0003 x5 »365 3,500
206 M=l 990,655 759,471 231,184
01 M= HI 990,655 759,471 231,184
OII=EaXMelAs 746,503
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2A:

E M

&2l H==XclAlE 29 (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
@M ALH 5002 *175,000k8 87,500
OISR 94024%210,000kg 197,400
@DEXSTH 3,800:2 %88, 000kg 334,400
@AM 30021%250,000kg 75,000
@& At 250%1%70,000kg 17,500
OPS=9; 4,90021%2,200kg 10,780
OF=F=ys 4,40021%1,800kg 7,920
Olil== 9002 %15,000kg 13,500
@XIOILAMLUIES 1,05021%1,860kg 1,953
@7eiak 5,008 +110kg 550
ogot= 15,162
OpEE= 12,5002 %1,000kg 12,500
OEIpE= 12, 1002 x220kg 2,662
ONE2LAIE HEDPH %=
35,0002 %200kg 7,000
OJE2LHRIAIL SHH
10,9002 1, 100kg 11,990
OJERL 2K NEE LCEE
35,0002+6,000m 210,000
401 Al2 8| L= 0Hb| 680,000 690,000 210,000
01 Al&HI 680,000 690,000 210,000
OJ=EELX2IAIE RXIZel (D13 - J172)
300,000,000 300,000
ONE2LZZHLIAIL UFOIDIY 7 - 1
Hl 240,000,000 240,000
OINEELHMEIAL SHEHIBA
140,000,000 140,000
405 RHAHE S| 7,000 7,000
01 ML 2Z 3| SH| 7,000 7,000
OARE Xt 7Y 400,000 % 107 4,000
OALRA dter)] g
3,000,002 *1CH 3,000
SLHelAE 2% 810,652 247,852 562,800
101 Q1244 3,324 13,504 210,270
0 IRIN22ISES 3,324 13,504 210,270
OFAHERY AAAHCIL AZ 3,324
@=z 10,5412 x8AI 2H+4 23 <02 3,03
CEYN=ES:] 8,0008! 4% *92 288
201 e 137,034 116,798 20,236
01 Al22H2IH 18,200 12,780 5,420
O0FF22 X S 8,0002 x50 %2 800
OFAR ARE 350,0002* 122 4,200
oz2s HA e8|
6000002123 7,200
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2A:

= gleg 9X
ol HATRIAE 2 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFARIEH] 2e|EH|
2,400,000 *14] 2,400
O2L ML HAS A
300,000& * 128 3,600
02 s3=gHl 118,834 104,018 14,816
oA FX2eldl(2551)
400,000 123 4,800
OAEHHI(2H 9066) RAl22IH
200,000 x 122 2,400
Ol A 2O (WR0) X2l
200,000& * 122 2,400
OsciXl AYE Z2H(A0) 28 =
500,000 500
O 2E=(2551) 1,100,000& 1,100
OHEXY HINBAL =42 (2551)
60,0002 *23] 120
O2=XcAe &dlIRks
7,500,000& «12& 90,000
Oz2ksclkl AME24 =2
200,000 #23] 400
OMFIY A 20 KFRHI(BR)
1,630 +8,000 £ 13,040
O2=XelAE HEE SFH(ER)
1,358 %3,000 £ 4,074
202 04l 1,920 1,920
01 2LHoIH 1,920 1,920
S, Q4 BrotiA B2
20,0003 x3& »32 1,920
206 MH=H| 26,474 16,540 10,934
01 M=4l 26,474 15,540 10,934
ONEXNSTH 3,696 4,200k 15,524
OMAESEH K| 219,000 505 10,950
401 AlEHIZL SO 641,900 100,000 541,900
01 Al&H| 641,900 100,000 541,900
O2aXlAlE =dF |
100,000,000& 100,000
O2=XelANE SUs HESHM2I| H(2
S01) 255,000,000& 255,000
O=2LXCNE €8 =2E4I] 1A
286,900,000 286,900
St=3SZHCIAE 2 4,621,012 2,867,256 1,753,756
101 @124H| 8,310 0 8,310
M ORINZZE2NSE S 8,310 0 8,310
OBAMNEZ=AHY LAIMNHRIR 23 8,310
OFJI=1=) 10,5413 +BA| 26 15 7,590
Of=pa =Nl 8,000 6 152 720
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SA: ABIETAYA
Hu: gleg 9H
&2l H==XclAlE 29 (SH9 H2)
S[E]
SA - B - SRS - MRAY - B ol &t e HIDS
201 Yer2 K| 1,865,638 1,709,956 155,682
01 AlR2teld| 259,518 183,034 76,484
OOFRI22X SA| 8,00024 802 6 3,840
0424 JHol oHEEFR 1
250,000 19 *23| 9,500
OYNERAX 2EHxE X
300,0002 *25CH 7,500
OBHEIDY =48I AR
310,0002 *8A| 2+ 152 37,200
OLMIel AR ADE
800,0002* 122 9,600
OBAASIIN(MS) B S HAIZ (2L, 23S
&) 10,000, 00024 *374 2% 13| 30,000
O RXIZel A2 (ZY, 2, =3)
3,000,0002 *374 2:+63] 54,000
OFANA L ARIA 2% 42E 7Y
40,0002 * 128 4,800
Odt=Hel SLHOA HAATES 0 7Y
33,0002 *30% 990
Odl==HelAlE 2els FAEHH|
650,000 *30H A% 1224 23,400
OS50 NS32 A%
380,0002 * 122 4,560
OAEA HAgAY| 240,000%*12% 2,880
O==ZMMSHe X MFX2el 2
300,000%*33%*12% 10,800
O33ot+HMelAE(2Y,58) S0IAE &
LRI QHEAA} 1,000,000 *14] 1,000
OBBot+HElAE SHAFST 2A
800, 0002 *47H A +43] 12,800
OZJs+H2lAE S24X S2AA
1,000,000 %474 A% 13] 4,000
OAEA JINM HEAA
5,000,0002 %13 5,000
OFAIRQIAEH| & (CTV 22| BAHI(23, S5
) 2,700,000& %24 2 5,400
OBBot4 HIIQHAR2LR HHSS
1,800,0002 * 122 21,600
OFBUAN 42 (2L, 23, 55)
412,002 %43 1,648
022X HH2R= ¢ 9,000
@22 #EA2LP=
200,0002 *15% %23 6,000
@22 HEEAG
100,000 * 15 +23] 3,000
®2 222l 1,608,120 1,526,922 79,198
Odt=HMelAlE HI123(130H4)
53,000,00024* 122! 636,000
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A Aote=EAIE A
Zu: gieg B
ool HATRIAE 2 (crol: m2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
oI w22/
300,000 & x50+ 122 18,000
O¥EXYE SFHI 1,630& 14,000 £ 22,820
O¥EXY EE= 1,000,000 *5CH 5,000
OHEXE HIIHAL =2
60,0002 *5CH 300
OdtrHelAld SLHOAIAE S4ld]
2,000,000 12& 24,000
O33ot+HelAld Gt Xl /IEXel
A 180,000& *5,000& 900,000
202 04d| 11,960 12,000 A0
01 =W OdbI 11,960 12,000 A0
OEtAIZ 2= St=HelAE AHz+E
80,0003 *4 B3 960
OR4EA U SABDY X2
20,000 *7H*50 7,000
O™gF Al 20,0002 1200 4,000
206 =4l 447,304 430,300 17,004
01 M=l 447,304 430,300 17,004
O1NEXNSEM(ZYL, 23 &8)
3,982& %21,000kg 83,622
OPACSTNM(ZY, 88 Z2HEE)
266, 130&x120E+200 A 63,872
OFEML20I=(3 BolMelg)
122, 1002 *100E* 10 2 12,210
OZBZM (2L, 23, E5)
80,000 »60=+3M 2 *4E 57,600
Odt+=d Xl weks &
40,0002 *2,000& 80,000
OXNS+=EFZEII(MS)SEE Al
2,000,000& *371 2 +93] 54,000
OAEA 4224 JIXHM
8,000,000& 123 96,000
401 AIEHIZ 2018 2,260,000 600,000 1,660,000
01 Al&Hl 2,260,000 600,000 1,660,000
Qot=BLHelAd SX2ell 532,000
©Z Lot el E 170,000,000& 170,000
@d3tot+=xel & 155,000,000& 155,000
@©s3ot+xel& 155,000,000& 155,000
@AIEE FUoMEA(SS) & FHIoHH
(22, A 52,000,000& 52,000
Oz, 2st B3otrHMelAlE AFHI =8
51,000,000& 51,000
O=&0t= O/ ESHEZZ LEWH
67,000,000& 67,000
O336t=HelAld 3L &S PLC WAl
1,610,000,000& 1,610,000
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= 28
D H==HM2IANE 29 M2l
L FE - SRAE) - MRAY - BES A 2
405 AHaHE = 27,800 115,000 87,200
01 It =S F = 27,800 115,000 287,200
OS& SEotHelAlE )] Wil
20,000,000& 20,000
O%IdHel 22HIIXHE S| 2
2,600,000 *3CH 7,800
S)|gotr+2d 23,600 23,600 0
St Rs Rt = 29 23,600 23,600 0
201 Ler23 | 19,200 19,200 0
01 At2t2ltl 9,600 9,600 0
OHINRES 800,000& 122 9,600
° BZ2H| 9,600 9,600 0
OBl4+E 232 PHE ¥
4002 *2,0009* 122 9,600
202 04| 4,400 4,400
NETET 4,400 4,400
O8I+ R2 2 FHUALIR BEtol
20,0002 * 121002 2,000
OBl+E RBAS QI EA
80,0003 3 x103] 2,400
B SHI(aot=E A &) 205,874 187,374 18,500
] 205,874 187,374 18,500
2g0123dl 205,874 187,374 18,500
1 Et=23EH| 191,374 172,674 18,700
1 A2l 145,452 138,952 6,500
ogn & B+ 60,240
@gA| 60,0003 x4822| +2JH 2~ 57,840
©F 7 MEbI 50,0002 x122]*20H A 1,200
@& | 300,000& *23| x20H 2 1,200
OATE =4 420,000 * 123] 5,040
OHINRES 1,000,000 = 1200 = 12,000
OL72 =N 2,500,000& 2,500
OBI WS =8 100,000 52 500
o733 bl 300,000 *22] 600
O&l27=HI(108) 176,000 * 1204 & 2,112
O=AD| Sit= 400,000 +3CH* 1290 & 14,400
Ost&al ditl Ext=
45,0002 = 15CH* 1200 2 8,100
O&=I| gitz 55,0003 x10CH* 1200 & 6,600
Oztda NEol2c
10,0002 »40CH 1290 2 4,800
o=J188J| g
55,0002 x18CH* 1204 11,880
(OFSYNESEAT= 900,000& * 122 10,800
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2A: ASt=ZAIE A
Mz HHSHAH|(ASHET AN A)
&l D122 (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
CEEEE Y
18,0002+ 10CH* 127} & 2,160
0YRE BUMS SAR(NALNILE)
50,0002 *1CH=120HE 600
OFARQIAH| 2els22|
260,000 * 1274 & 3,120
02 B22ZH| 45,922 33,722 12,200
OFAN2Y2e| & B222 45,922
®OAIEEH| S| 5,000,000& %33 15,000
@M ER2 200,000 x50 A+ 12& 12,000
®OFAI A2 =4&H|
5,000,000& *33] 15,000
@ERANNHEEZ (X AL E)
410,800& *x23| 822
@A BHOLME I 200,000 *13] 200
®ot4==8 3| 2,900,000& *13] 2,900
202 04| 5,000 5,000
01 2L Y| 5,000 5,000
OAMBIEEARIA ADEA ZEOIH|
20,000& *10Y9 *253] 5,000
203 YR =&IH| 9,500 9,700 A200
02 MR IPAH 2RI 2,600 2,680 A80
oA YREA| 40,0002 #6524 2,600
WEELTEES ] 6,900 7,020 A0
ORANRY YRETY|
(400,0004+(5,0002 359 ) ) 122 6,900
MEES (A=A A-2D|Y) 1,073,943 1,152,426 N78,483
WEHHXIZS 1,073,943 1,152,426 \78,483
M AL X 1,073,943 1,152,426 \78,483
701 JIESI HSNHE= 1,073,943 1,152,426 \78,483
2 B)IESEIHINMNEEZ 26,717 28,240 N 1,523
Oot=E AMEE £=HYR U2
1,335,842, 2002 2% 26,717
03 2I)IHELEIIHAN=2NES 1,047,226 1,124,186 76,960
O&x=T BI|Y SEIH N2HES
1,047,226,000& 1,047,226
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